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QUESTION 1

You want to derive the gender from a firsthname, how would you do this?

A. Use a reference table with the firstname as the valid column and the gender in the second column. Then choose to
Replace Reference Table Matches with Valid Values when applying the reference table in a strategy in the
Standardizer. Use the firsthname as input.

B. Use a reference table with the gender as the valid column and the firstname in next column. Then choose to Replace
Reference Table Matches with Valid Values when applying the reference table in a strategy in the Standardizer. Use the
firstname as input.

C. Use a decision and create an If then else rule eg: If fname = \\"Jennifer\\' then gender: = \\'F\\' Endif

D. Use a reference table with the gender as the valid column and the firsthame in next column. Then choose to Replace
Reference Table Matches with Custom Strings when applying the reference table in a strategy in the Standardizer. Use

the firstname as input.

Correct Answer: A

QUESTION 2

Which two are index key levels in Identity Matching? Choose 2 answers
A. Narrow

B. Limited

C. Typical

D. Extended

Correct Answer: AC

QUESTION 3
With respect to field matching in IDQ, which best describes the approach to address matching?
A. No standardization is necessary, map input fields to the match transformation

B. Standardize address fields and use address line, locality, region and postcode fields as input to the match
transformation

C. Standardize address fields and use the discrete address component fields, locality, region and postcode fields as
input to the match transformation

D. Standardize address fields, create a group key field which contains parts of the address fields and only use the group
key for address matching

Correct Answer: B
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Reference: http://scn.sap.com/docs/DOC-30172

QUESTION 4

Which Informatica option provides solutions to common data quality issues in a country, region,or industry? Choose 1
answer.

A. populations
B. accelerators
C. dictionaries
D. mapplets

Correct Answer: C

QUESTION 5

A customer wants to be able to review data on the overall quality of each record, which technique should be used?
A. Scorecarding

B. Matching

C. Grading

D. Standardization

Correct Answer: D
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